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ExDFEAVEFVELLS,

® 3m3m + 6mm = cm mm
@ 5emlmm + 6é6mm = cm mm
@ 7cmébmm + 2mm = cm mm
@ 3cmlmm + 8mm = cm mm
® Sms4mm + 4mm = cm mm
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ExDFEAVEFVELLS,

D 2cm8mm + Imm = cm mm
@ 7ecm3mm + 3mm = cm mm
@ 8cm5mm + 2mm = cm mm
@ 4cm4mm + 3mm = cm mm
® 7cmé6mm + 3mm = cm mm
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ExDFEAVEFVELLS,

® 4em2m + Smm = cm mm
@ 9em2mm + Imm = cm mm
@ 5cm6mm + 2mm = cm mm
@ S5cm6mm + 2mm = cm mm
® 9cm3mm + 5mm = cm mm
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ExDFEAVEFVELLS,

@O Ilem7mm + Imm = cm mm
@ 9em3mm + 4mm = cm mm
@ Ilcmébmm + Imm = cm mm
@ lcm6mm + 2mm = cm mm
® 5m7mm + Imm = cm mm
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ExDFEAVEFVELLS,

D 2cm8mm + Imm = cm mm
@ 9emS5mm + Imm = cm mm
® 4em5mm + 2mm = cm mm
@ Sm2mm + 4mm = cm mm
® 8m7mm + 2mm = cm mm
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ExDFEAVEFVELLS,

® 4embébmm + 3mm = cm mm
@ 7cm3mm + 2mm = cm mm
@ 5cm2mm + S5mm = cm mm
@ lem7mm + lmm = cm mm
® 8m5mm + 2mm = cm mm
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ExDFEAVEFVELLS,

D Ilem2mm + Tmm = cm mm
@ 9em2mm + 3mm = cm mm
@ 7cmébmm + Imm = cm mm
@ 5em2mm + Imm = cm mm
® 8m4mm + 4mm = cm mm
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ExDFEAVEFVELLS,

@ 3em5mm + lmm = cm mm
@ 6cm3mm + 3mm = cm mm
@ Ilecm2mm + 3mm = cm mm
@ S5ecmlmm + 8mm = cm mm
® 5m5m + Imm = cm mm
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ExDFEAVEFVELLS,

® 3cm3mm + 4mm = cm mm
@ 7cm2mm + 5S5mm = cm mm
@ 8m5mm + 3mm = cm mm
@ S5cmlmm + 8mm = cm mm
® 8cm4mm + 4mm = cm mm
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ExDFEAVEFVELLS,

@ IlecmS5mm + 4mm = cm mm
@ 5m2mm + 6mm = cm mm
@ 8cmé6mm + 2mm = cm mm
@ 5cm5mm + 3mm = cm mm
® 8m8mm + Imm = cm mm




22 RIDEAW() 71 R E

£

ExDFEAVEFVELLS,

® 4cm5m + 3mm = cm mm
@ 6cm3mm + 5mm = cm mm
@ 8m2mm + 6mm = cm mm
@ 2cm6mm + 2mm = cm mm
® 7cm3mm + 3mm = cm mm
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ExDFEAVEFVELLS,

® 3m8m + Imm = cm mm
@ 5emlmm + 4mm = cm mm
@ 4cmdmm + |lmm = cm mm
@ 4cm5mm + 4mm = cm mm
® 5m7mm + Imm = cm mm
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ExDFEAVEFVELLS,

@ 3em7mm + 2mm = cm mm
@ 5m3mm + 6mm = cm mm
@ 7cmébmm + 2mm = cm mm
@ 2cm5mm + 2mm = cm mm
® 6cm6mm + Imm = cm mm
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ExDFEAVEFVELLS,

D 4cmlmm + Imm = cm mm
@ 9emS5mm + 4mm = cm mm
@ 2cm2mm + 5S5mm = cm mm
@ lem7mm + 2mm = cm mm
® 9mbé6mm + Imm = cm mm
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ExDFEAVEFVELLS,

@D 3em5mm + 2mm = cm mm
@ 6cm4mm + 2mm = cm mm
® 4ecmbébmm + 3mm = cm mm
@ lem6mm + |lmm = cm mm
® 6m4m + 4mm = cm mm
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ExDFEAVEFVELLS,

@ 3em8mm + |lmm = cm mm
@ 7ecm4mm + Imm = cm mm
@ 7cmd4mm + 4mm = cm mm
@ 2cm7mm + 2mm = cm mm
® 7cm2m + Imm = cm mm
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ExDFEAVEFVELLS,

@O 4cm2mm + 2mm = cm mm
@ 7cm2mm + 6mm = cm mm
® 4em5mm + Ilmm = cm mm
@ 3cm4mm + 2mm = cm mm
® 9m8m + Imm = cm mm
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ExDFEAVEFVELLS,

® 3m2m + 3mm = cm mm
@ 7cm2mm + 6mm = cm mm
@ 7cmébmm + 2mm = cm mm
@ 3em3mm + lmm = cm mm
® 7cn7mm + 2mm = cm mm
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ExDFEAVEFVELLS,

® 4em5m + 4mm = cm mm
@ 8cm5mm + 4mm = cm mm
@ 3cmé6mm + lmm = cm mm
@ lcm4mm + 5S5mm = cm mm
® 9m2m + Imm = cm mm
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ExDFEAVEFVELLS,

® 4m8m + Imm = cm mm
@ 8cm5mm + 4mm = cm mm
@ 6cmn5m + 3mm = cm mm
@ 5em3mm + 4mm = cm mm
® 6cm5mm + 4mm = cm mm
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ExDFEAVEFVELLS,

D 4cmbmm + 2mm = cm mm
@ 6cm2mm + 2mm = cm mm
@ 7cmS5mm + 4mm = cm mm
@ 4cm2m + 6mm = cm mm
® 6cm7mm + 2mm = cm mm
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ExDFEAVEFVELLS,

@O 4cmlmm + 8mm = cm mm
@ 7cm4mm + 2mm = cm mm
® 9em3mm + 5S5mm = cm mm
@ 3cm7mm + Imm = cm mm
® 8m7mm + Imm = cm mm
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ExDFEAVEFVELLS,

D Ilcmébmm + 2mm = cm mm
@ 8cm2mm + 4mm = cm mm
@ 9m5m + 3mm = cm mm
@ 4cm2m + 4mm = cm mm
® 9cm3mm + 5mm = cm mm
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ExDFEAVEFVELLS,

O 4cm7mm + 2mm = cm mm
@ 9emlmm + 2mm = cm mm
@ IecmS5mm + 3mm = cm mm
@ 4emlmm + 3mm = cm mm
® 5m3m + 2mm = cm mm
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ExDFEAVEFVELLS,

® 4em8mm + Ilmm = cm mm
@ 7ecmlmm + 6mm = cm mm
@ 4cmdmm + 4mm = cm mm
@ 3cm5mm + 2mm = cm mm
® 9m3m + 2mm = cm mm
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ExDFEAVEFVELLS,

@ Ilcm8mm + Imm = cm mm
@ 5m2mm + Imm = cm mm
@ 3m3m + 4mm = cm mm
@ 3cm5mm + 2mm = cm mm
® Sms4mm + 3mm = cm mm




22 RIDEAW() 87 R E

£

ExDFEAVEFVELLS,

D 2cm7mm + 2mm = cm mm
@ 9em4mm + 3mm = cm mm
@ 7cmS5mm + 3mm = cm mm
@ 3cmlmm + 7mm = cm mm
® 7cmé6mm + 3mm = cm mm
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ExDFEAVEFVELLS,

® 4embmm + Ilmm = cm mm
@ 9em4mm + 3mm = cm mm
@ 4cm2mm + 6mm = cm mm
@ 3cm7mm + Imm = cm mm
® 9mbébmm + 2mm = cm mm




282 ‘TIDEALW() 89 B H

£

ExDFEAVEFVELLS,

® 3m3mm + 5mm = cm mm
@ 6cm2mm + 3mm = cm mm
® 4em5mm + 4mm = cm mm
@ lemlmm + 3mm = cm mm
® 6m4m + 3mm = cm mm




282 ‘TIDEALW() 90 B H

£

ExDFEAVEFVELLS,

® 4embmm + 2mm = cm mm
@ 9em4mm + Smm = cm mm
@ 8cm3mm + 5S5mm = cm mm
@ 2cmIlmm + 4mm = cm mm
® 9m8m + Imm = cm mm




